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Part-1 (Botany)
(A= : Tigwiae)

(GROUP-A)
(For New Course)
(TG ANTFCH &)

What is double fertilization ?

fafRcaea /e

fossil ?

WWWW?{#W@?

Monocotyledonous plants ?

T SR e e T A
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What is ecological succession ? 1
ARCTSTES ST B2

Define organic farming. 1
Cer PRI Ui e |

Draw labelled diagram of L.S. of an
angiospermic ovule showing different

nuclei present in it. . 2

UG Sfgmn fTaten foorzm R[Rien

Waﬁmﬂﬁm@%ﬁ?@ﬁ—e{
il | '

Explain significance of mutation in

evolution._' ' 2
RSt SRS Mgy gl st
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CHICEHIATSS. Te0s J N2

which Ty plaémid is isolated. Explail

the use of this in biotechnology.

What do yoﬁ mean by coacervatesi

Name the source otganism frofl

T, ARG W‘Wﬁa ST el

cercall | Te efERw @F AR
Trad Al

10.

differ from normal breeding?

| GECEEE *9 93R ARSI P 3

W AR W0 ATSWHIE F1?
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How does transgenic crops techniqu

11.

12.

i 22T-BIOL (N)-BENG

What are Dbiotic and abiotic

components of ecosystem ? 2

AR (os AR SIERS SAMTPTIR
e '

Suggest any two techniques which
can help in early detection of
infections much

bacteria / virus

before the symptoms appear in the

body. o ' 2

1

«fcx BRI /. SRIG W@ AKE RS

Gaics aTe (7l (ReTIR ST *AEIR! (7
I 75 AR SrEd B |

What are antibiotics ? How they are
able to prevent the growth of other

microbes in media? 2

[5] P.T.0
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14.

15.

- Describe the major steps involved i

2fSteRe METE Fe b 92 T
] SGICIT JaC® FISIC A4t 2l 5

AT ?

T FIALCA IS AZTS! A ?

OR (@%41) |

gene cloning.

endo and ecto mycorrhiza.

. What is

VAM-a3 5o Tl oeat | o7 wie e
T @] MR WPEREEE 4T

L BWIEEe T |

Discuss the
development of a dicot embryo. How
do you differentiate a dicot embryo
from a monocot embryo ? 4

@ e fRSoo@al e e R
B 1 0 0 B < T P v e A L
GGGl T (ATF FISICT 7| FA?

embryo ?

OR (9%9))

‘Pollination is an  important
phenomenon in the life cycle of a
flowering plant’, justify the statement

and discuss the role of different

agencies responsible for the event.

PR — Y S T
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(d) Hardy-Weinberg principle

Sy fie 1 SRefa Tl orie | 2R BRI A |
«2 MY ATl [Kion e Fi
efel el | '

17. Write short notes on (any two) :
2% 2=t

e B 0l ¢ (T ricar g1%)

( a) Pdlyembryony

JZ ol

(b) Genetic Engineering
e sherge

(c) Bio gas
&< AT

. | 22T-BIOL(N)-BENG  [9] P.T.O
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Part-II (ZoologY)
(faoim =g : Giafaea)

(GROUP-A)

(For New Cdttrse)

(79T ANITTFTIT &1j)

18. Fill in the blanks : (any two) 1x2='

w g <l IR :. (T Pt 7i5)

(a) Pebrine is caused by

eI —— =iF 23|

(b)) The milk of ‘Rosie’, the firs

transgenic cow, contains human

alpha
2% Fisreta el o (Aifes ey W
gl — iR

22T-BIOL (N)-BENG  [10] _ Contd,

(c) Owvulation is induced by a hormonc
called '

fomiq e — = A |

(d) The total number of chromosomes

in a human cell is

MRCHE NG eAiTsieas AT 2eet
|

19. Answer any two : , 1x2=2

T CPITAT qfoF T Al

(a) What is frameshift mutation ?

Rt Rl Srogfes Besifas 7

(b) Define algal bloom.

I JUT A WS |
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(c) Write the scientific name of African A FEreo T Torged [ vl llei b e

cat fish. J P2
tﬂjﬂ%@:{ FERreE Rl s el (b) Why has amniocentesis been
. : A banned ? 7
GRSTIEORR @l @ [HiRE 1 2E0R?

(d) At which part of a pond ecosyste"

q _ -
ccomposers are abundant ? (c) Write a note on Haemophilia.

oga AR @ WK RrifRrE e @B Tt e

Reateraren eips =R A

(d) Discuss the structure of nucleosome.

FeRreTaItE sioa SHICEbAl FCEl |

(¢) What are the different types. of

following :
' barriers in innate immunity ?

TS A AEFe SPRE I A SIFITR

ATHE (T el 519BT & @Il -
. ' Je

(1) What are the changes that occur:
: () What is the causative organism of

Flacherie ? Write the symptoms of
the disease.

during follicular phase of

menstrual cycle is human females 2
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FIHIR [ YA ol T =t A2
23 ? @3 (AT eTpoiTE CEeal | 1

T-feCFPTRE @R B-RICpiiRs |

(b) Sex chromosome and autosome.

ot TSN @R} RS FENE |

(c) _Hydrafch and Xerarch.

- RRBYIF G (TS |

22T-BIOL (N)-BENG ~ [14] Contdil |
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255",

(d) Spermatogenesis and Oogenesis.

| e 3R foEeEn |

What do you understand by STD ? Name
two STD in man. Mention fwo preven_tive
measures of STD. 1+1+1=3

1o T5TCe F @2 72 eRIET (AT
I ¢TI0 | CCAICoIT 75 aifSrate g Srard
FEL

OR / &%

- Draw and label the internal structure

of the seminiferous tubules. 3

warsly TR Srersad e ba s |

Write the goals of Human Genome

Project. 3

i A e STRfer (e



OR / w193t

Write the Mendel’s laws of Inheritance

CTCSTTR ITaifea w CeTe |

24. Discuss the causes of cancer.

T o PR SCsicA e |
OR / 231
Write a note on Biosphere Reserves of

Assam. 3

wmm‘ém@f’%@m%ﬂa GG B r‘
A :

25.

parasite ? Describe the life cycle of
malarial parasite in brief. '

22T-BIOL(N)-BENG  [16]

26.

22T-BIOL (N)-BENG

RN AR FATE R e iR
HTEITT Ao AT I T |

Discuss the various applications of

'DNA fingerprinting. 5

fo.ama fea af5e-an ffen arPeE
ST 6T |

[17] P.T.0



PR e Sfer taafo b
GTCa |

Part-1I (Botany)

(AT 2t Tigwi=es=)
| s I AT R '
(GROUP-B) d) What is meant by ascent of sap ?
(For Old Course) . : .
( I AT &)

ACIGEAN I 0T ?
27. a) What is the function of latera

meristem ? (¢) Name the first stable product in Cy

AP SIe AT e H 2 cyele; :

C, 5T TG 2Tl 2T A AMiLCE

b) Why ginger is called undergroun N2

stem ?

-xylem. 2
c¢) Write the scientific name of the
plant form where Reserpine is I ﬁqﬂmm@% (eTCAN
obtained. 1 '
22T-BIOL(N)-BENG  [19] P.T.0
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29. Discuss how osmosis is essential in®433 Describe the special  types of

plants ? | inflorescence with examples. 3
- Sfewg oy S el AT STy Redw qace AeeiRerEelE . alb
Al | ST |

4. Describe the various stages of

development of female gametophyte.

30. Mention the theories of origin of life.

[SRE] W@?rwwwa' :
SrerricEs R R wamg 9o St |

31.. Why bio-fertilizers are preferred to . ‘
35. Describe the dark phase of photo-

synthesis. 3

chemical fertilizers ? 2

APTARRE AT (5CT ERA (el (A ARARL ‘
e ' FCETRs SCCaaCela S aiferaiff adr s

32. How plant diseases are transmitted ? - :
36. What is meant by growth? State the

3
various factors which affect owth of

Sfuta @ e Rwifde =me &
plants. 3
221°BIOL(N)-BENG .~ 120 | Contd = 9o-BIOL (N)-BENC [21] P.T.O



b) Open vascular bundle and closed

Vascular bundle.

Y& AIZH A G G AL Tl |

of various meristems. : :
38. Write short notes on : (any two)

Rifen stes zwrnren Rl vz i =t i

i _ ' e DI 104t © (6 CveTt %)
OR (9521) a) Head or Capitulum inflorescence

L .3 < 2R |

Distinguish between : 2x2=4 +

AL el b) Coacervates.
_ (IEFIRCSE |

a) A branch and a compound leaf. '

e o 99 B CPRE #iret | t) Green manure. .
Fge 7 |
22T-BIOL(N)-BENG  [22] Cmtd]
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d) Significance of transpiration

AT ool |

22T-BIOL (N)-BENG
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Parf-II (Zoology)
(faSrm =i : Safea=)

(GROUP-B)
(For Old Course)
(9[FCAt ATFCII G)

39. Find the correct answer : 1x5=5

o Wa.' @R e

(1) Which of the following enzyme is
primarily involved in DNA

replication ?

(a) ISbmerase

(v) DNA polymerase

(c) Restriction endonuclease

(d) Transaminase.

Contdi | 29T-BIOL (N)-BENG  [25] P.T.O -



e &N St Ay .9

. (iii) Ovary secretes. which of the
PRI, I, e foilowing hormone ?
(% W el T (1) Estrogen
() a9 emeEs () Thyroxine
GD G e (c) Glucocorticoid
(V) BEaEeTE (d) Mineralocorticoid.

(i) Hypersecretion of Thyroi MRS (SN gag ol o oA

hormone leads to which discase ﬁ:ﬂﬁf@ Rt

(a) Cretinism | (F) qrgem

(b) Myxedema (%) AR

(c) Exophthalmic goiter (%) PLIPOFAS

(d) Simple goiter. (%) FREEhee |

ek (iv) Typhoid disease is diagnosed by

(a) Widal test

(@) e
(%) SfRre | (b) ELISA Test
(%) (FARTERT afete (c) ESR Test

(9) AEe stevae | (d) Ultrasound Test.

22T-BIOL (N)-BENG  [26] Contdi| 2oT-BIOL (N)-BENG  [27] P.T.O
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SRTEe @ fAdae «@mT 2o
(7) TRES AAW
C(3) mEE AR
(3) B AR
(7) Sfex A |

(v) The causative agent of Amocbiasi

is

(a) Entamoeba histolytica
(b) Mycobacterium leprae—
(c) Ascaris lumbricoides

(d) Plasmodium vivax.

(®) TIERY REGERGR
() TSN =2
() SRR ETRT
(%) BT ©Rens |
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40. Write about application of Genetic
Engineering. - 2

Tﬁﬁﬁﬁvﬂ%ﬂ@mﬁmﬂﬁﬁm'mﬁﬂm TRl L

41. Mention the name of different Types of

cancetr. , 2

o 4R IR A1 S S

42. What is the significance of Immunization ?

2
SERETACE Oles
43, Distinguish between = (any two)
2%x2=4

(a) Exocrine glaﬁd and Endocrine

~ gland
(b) Spermatogénesis and Qogencsis

(c) Diabetes insipidus and Diabetes

mellitus.

22T-BIOL (N)-BENG [29] P.T.C



47. State the Mendel’s laws of Inheritance.

AL A 2 (6 CPIeaT 7o) 3

() IFRA afy R TwWTS AfY
(%) ST @R ot Sestrm
() Crcafta ARG @3 S

CTETEOT A TCRZ AW

IS _ﬁ"(“T?‘@ﬁ' TR Sy AN

48. Describe the process of fertilization in

mammals. . x 4

44. Draw and label the structure of human SAR e s afdFE I S

- eye. ; 2+1=3
R DS ER | s19tag foize By =it 49. What is excretion ? Write about the
_ mechanism of urine formation in
45. Write briefly how CO, is transported mammals. 1+3=4
in mammals. ' 3 ' '
. . , a5 B 2 BT 2l S Seet el e
B ATCS FATCEHES [Feitd RIS el |

= IACFC (0

: \
46. What are different types of RNA?
Mention their role in protein synthesis.

' 14+1%2=3

fafen e Sa.9=.Q, 372 2 (2o ST
- GRufloR ol Srerd Al | | |

: 9)T-BIOL (N)-BENG/ *4+*4 [31
22T-BIOL (N)-BENG  [30] : Contd. W o



